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RITHER 25 24 20 20 5 8 3 10 5 7 8 2 6 7 1 1 3 155
HEXHEES 6 2 2 1 1 2 4 1 4 2 1 12 9 3 50
SRRHEED 4 2 1 1 1 1 1 2 2 2 2 1 20
MEXHES 4 1 4 1 5 2 1 1 3 5 3 30
BZEHER 3 2 3 4 1 2 1 2 1 1 1 2 1 3 27
XTEHES 2 2 1 1 1 2 1 2 2 3 17
RERPHER 2 1 1 1 1 6
AELBEHER 1 1 1 1 1 5
AROXBEF 3 1 1 1 1 7
TTEHREHER 1 1 1 3
SEFHED 5 3 4 4 2 1 1 2 1 1 3 1 2 1 1 3 5 3 43
FBXHEES 1 2 2 1 5 2 13
HRETHE B 3 1 1 1 1 1 1 1 1 1 1 1 1 15
ELEHES 15 7 5 6 1 1 1 2 2 4 3 3 4 2 56
AS5RXHER 3 1 1 1 1 1 1 1 1 1 2 14
BEEGHEEE B 2 1 1 2 1 2 1 1 1 1 1 1 1 1 1 2 20
ENRABERED 6 3 2 5 1 4 3 5 5 8 9 2 53
MEEREHER 1 1 1 2 5
SHEHERKERS 1 1 1 3
FIHHER 2 1 1 2 1 1 1 9
IR XBEF 4 1 1 1 7
FTEHEERES 3 1 1 1 1 1 1 1 10
EEERERER 4 6 1 6 1 1 1 2 1 3 3 1 3 33
THEASEZEER 1 1 2
TEARBLISRPE 2 3 2 4 1 2 14
TEEAGE 1 1 1 1 1 1 6
TER/I—F 4 1 5
TEKRERTE 1 2 1 2 6
TEKRNBZFRE 1 p
TEHREEER 1 1 2
FERINTE=+—hE] 1 1 1 1 4
TE = +—/VHBREX 1 1 1 1 4
TEXZHESRE 1 2 1 4
& it 103 72 51 66 15 14 15 19 14 34 36 5 38 37 4 3 1 37 48 37 649




